
gga70-3n, Bewertungsbogen: 3 und 2x5 Farbstufen, exp0=1, expg=1, inw=1, xchart=1

3 Farbstufen: 2x5 Farbstufen:U00w − U16w = Weiß W U00w − U16w = Weiß W Grau U00w − U04w

U00w U08w U16w U00w U04w U08w U12w U16w U00w U01w U02w U03w U04w

0,00 0,5? 1,00 0,00 0,5? 1 / 0 0,5? 1,00 0,00 0,5? 1 / 0 0,5? 1,00
visuelle
Skalierung:

Beurtei-
lungsanteil

Beurteil-
lungsanteil

Beurtei-
lungsanteil

Beurteil-
lungsanteil

500, 750, 1000 500, 625, 750, 875, 1000 500, 531, 562, 593, 625

0,00 , . . 1,00

0,00 , . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00

0,00 0, . . 1,00
0,00 0, . . 1,00


